AVANTE TYPICAL DETAIL LIST

*NOTES:

1.  SEE CONSTRUCTION MANUAL FOR MATERIAL SELECTION

FOR CORROSIVITY ENVIRONMENT.
DRAWIN SHEET
NO. TITLE DETAIL G REV. 2. SEE CONSTRUCTION MANUAL (CANTILEVER SPAN TABLE)
NUMBER NO. FOR MORE INFORMATION ABOUT AVANTE RAIL CANTILEVER
SPAN REQUIREMENTS.

1 |COVERPAGE COV | AVATYP-COV | 03 1 3. SEE BELOW FOR CORNER ANGLE FIXING PATTERN

2 | TYPICAL ELEVATION ELEV | AVA-TYP-ELEV 01 2

3 |FIXING PATTERN DO1 AVA-TYP-DO1 01 3 CORNER ANGLE FIXED

TO THE BACK OF RAILS

4 | TYPICAL AVANTE WALL SECTION (SIDE VIEW) D02 AVA-TYP-D02 03 4 FIXING PATTERN -

5 | TYPICAL AVANTE WALL SECTION (TOP VIEW) D03 AVA-TYP-D03 03 5 o

6 |FLOOR FLASHING DETAIL D04 AVA-TYP-D04 03 6

7 | TYPICAL CAPPING DETAIL D05 AVA-TYP-D05 02 7 \

8 |HORIZONTAL EXPANSION JOINT AND SLAB EDGE FLASHING D06 AVA-TYP-D06 03 8

9 | VERTICAL EXPANSION JOINTDETAIL D07 AVA-TYP-D07 03 9

10 | WINDOW JAMB DETAIL D08 AVA-TYP-D0S 02 10

11 | DOOR JAMB DETAIL D09 AVA-TYP-D09 03 11 .

12 | WINDOW HEAD DETAIL DETAIL D10 AVA-TYP-D10 02 12

13 | WINDOW SILL DETAIL D11 AVA-TYP-D11 02 13

14 | CORNER DETAILS D12 AVA-TYP-D12 03 14 i

15 | TYPICAL AVANTE DETAIL ABUTTING TO SOFFIT LINE D13 AVA-TYP-D13 03 15 CORNER BRICK FACING

16 | TYPICAL AVANTE DETAIL ABUTTING INTO TRADITIONAL BRICK | D14 AVA-TYP-D14 02 16 01)omame A NCLE FIXING PATTERN

17 | STANDARD AVANTE BRICK + RAIL SECTION DETAIL D15 AVA-TYP-D15 01 17

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS TO THE INSIDE OF THE
AVANTE RAIL TO BE CARRIED OUT BY THE PROJECT DESIGN PROFESSIONAL
01 |FOR CONSTRUCTION P.A | 01/10/2019 BRICKS&TM PA
s xermacton A S .PG PAVERS | °° Q% o COVER PAGE 03
A‘BN 68 168 794 821 A briCk WGIIin stem
e s e s N/A SSY AVA-TYP-COV 01




PARAPET LEVEL

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL

| | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
| | | | | | | | | | L | | | | | | | | | | | | | | | | | |
| | | | | | | | | | | | I | | | 4 | | | | | | | | | | | | | | | | |
I I I I I I I I I I I I | I I yz [ I I I I I I I I I I | I I I I I
| | | | | | | | | | | | | | | | | | | | | | | | | | | | ((Du6,, | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
/
| | | | | | | | | | | | | | WE > | | | | I I I I I I I | | |
=FLO"0R L"EVEil_ | | | | | | | | | | | | | | | | | | HORIZONTAL EXPANSION JOINT @ FLOORS I | | |
| | | | | / ar | | L7 ) | | | | | | | RN | | | | | | | |
| | | | | 7 D07 | | K D10 | | | | | | B P m | | | | | | | | | |
| | | | L PAGE 09 | | | PAGE 12/ | L | | L= | \W | | | | | | | | |
| | | | | | | | | | | | | | | f —— | | | | | | | | | | | |
/D12 | | | | | | | | | | | | | | | | | | | | | | | | |
i ‘ I | | | | | | | | | | | | | | | | | | | |
jl;@ | | — | | | | | | | | | | 7 | | |
| | | | | | | | | | | | | | | | yd | | | | |
| | | | | | | — | | | | | | | | D09 e | | |
| | | | | | | | | | | | | | | | 1 e | | | | |
| ! | ! | ! | ! ! | ! " | D08 - | | " | " | " | — | ! | ! | " W 4 ! | ! | ! " | "
Il % DO1 /
| | | | | | | W o AGE 03] | | | | | | / | | |
| | | | | | | | | | | | )7 | | | e | | | | |
| | | | | | | | | | | | | | e | | |
| | | | | | | | m | | | | L7D02\ | | / | | | | |
| | | | | | | | | | | AGE 04— | / | | |
| | | | | | | | PAGE 13 | | | | | | | | | | | | |
| | | | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | AN | | |
| | | | | | | | | | | | | | | | | | | | | | \ | | | | |
| | | | | | | | | | | | | | | | | | | | | AN | | |
| | | | | | | | | | | L | | | | V| =p | | | N\ | | | | |
| | | | | | | | | | | | | | | | | | | | N | | |
| | | | | | | | | | | | | | | | | D04 7 | | | | AN | | | | |
| | | | | | | | | | | | | | | O \pacE 06/l | | | \ | | |
| | | | " | | ! | | ! | ! | ! | ! | ! | ! | ! | ! | ! | ! ! " ! | ! | ! | ! | AN | ! | ! | | ! |
L N
_Gho UN D i LEVEL L L [ N r . L L [ [ [ [ | L L I I L L N I | [ [ X | I
2400mm MAX VERTICAL EXPANSION L .
S JOINT FROM CORNER 4 SEE CONSTRUCTION MANUAL FOR MAX VERTICAL EXPANSION JOINT SPACING
REV DESCRIPTION BY | DATE 2 DESIGNED BY ( DRAWING TITLE REVISION
01 |INFORMO1TION P.A |01/10/2019 BR'CKS ™| pa
.p G PAVERS e TYPICAL ELEVATION 01
A: 75 T Road, Schofields, NSW 2762 PAPER SIZE wm
E 53'g§§§§§§§°ks'°°m’a" A3 DRAWING NUMBER SHEET NO
A'BN 68 168 794 821 SCALE A briCk WG I Ii Stem
e e e s s N/A NG sy AVA-TYP-ELEV 02

Do not scale this drawing

\_




¢ 600 ¢ 600 ¢ 600 ¢ 600 ¢
2400mm MAX AVANTE RAILS*
POSITION OF FIXINGS TO PERIMETER
’ MIN 12mm EDGE DISTANCE (TYP)
¢le cr(;' SGZJ q
‘o O‘O ° 7;0
O ;? T{; f(i% o ?
é{e e ‘*\ 1o
* o146 s
| STAGGERED FIXING
3 12G FASTENERS*
N ‘ ‘
L 1200 MAX FIXING CENTRES L
TOP HATS*, Z-SECTIONS* OR HELPING FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
HANDS* @ 600 CTRS TO CREATE CAVITY TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL
g
01 |FOR CONSTRUCTION P.A |01/10/2019 ™ }
.pG BRI KR8 e FIXING PATTERN 01
A.: 75 _Townson R_oad, Schofields, NSW 2762 A
T e e 00 oo A3
F: 6128362 9005 . .
ABN 68 168 794 821 A br|Ck WG ”In stem
s T e s S5y AVA-TYP-DO01 03
p pp! N/A
Do not scale this drawing \_




MIN 25mm CAVITY FORMED USING

LIGHT GAUGE

TOP HATS*, Z-SECTIONS* OR
HELPING HANDS* @ 600 CTRS

12G FASTENERS*

MAX 31mm OVERALL AVANTE

SYSTEM (RAIL AND BRICK FACING)

10mm MORTAR* JOINT

HORIZONTAL TOP HAT

AVANTE RAIL*

230*76mm AVANTE

BRICK FACINGS*

VERTICAL TOP HAT

AIR/WATER/VAPOUR

BARRIER IF REQUIRED
FOR OVERALL WALL
NATIONAL
CONSTRUCTION CODE
(NCC) COMPLIANCE

STEEL / TIMBER
FRAMING

MAX 31mm OVERALL AVANTE

SYSTEM (RAIL AND BRICK FACING)

10mm MORTAR* JOINT

A4

12G FASTENERS*

MIN 25mm CAVITY FORMED USING
TOP HATS*, Z-SECTIONS* OR

HELPING HANDS* @ 600 CTRS

MIN 12mm EDGE DISTANCE

12G FASTENERS*

———r——————

CLEAT

AVANTE RAIL*

Y N
4

230*76mm AVANTE

BRICK FACINGS*

AIR/WATER/VAPOUR BARRIER IF
REQUIRED FOR OVERALL WALL
NATIONAL CONSTRUCTION
CODE (NCC) COMPLIANCE

A
< -
g ,
. _ p
CONCRETE / MASONRY
WALL .
: VA,
g
4 Vi
g
A . 4 g

g
4 A
A
<
4 A
q.
< 4
A a
g
g
A
4 -

AN
AN

M8 x 60 ANCHORS FOR .
, CONCRETE WALL*/ '
"+ M8 x 80 ANCHORS FOR
MASONRY WALL*

01

TYPICAL LIGHT GAUGE STUD FRAMING

SCALE N/A

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL

TYPICAL CONCRETE WALL

02 SCALE N/A

01 |FOR CONSTRUCTION

P.A

01/10/2019

02 |REISSUED FOR CONSTRUCTION

M.E

19/11/2021

03 |REISSUED FOR CONSTRUCTION

M.E

20/07/2022

PG

A: 75 Townson Road, Schofields, NSW 2762

E: corium@pghbricks.com.au
T: 6129235 8000
F: 612 8362 9005

ABN 68 168 794 821

BRICKS &™) 7z

PAVERS

A3

©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated
without the prior written approval of PGH Bricks & Pavers Pty Ltd

Do not scale this drawing

N/A

S Avante

A brick walling system

TYPICAL AVANTE WALL SECTION (SIDE VIEW)

03

AVA-TYP-D02

\_

04




LIGHT GAUGE STEEL / TIMBER FRAMING CONCRETE / MASONRY WALL

q
_,
4
4
AN
4
AN
/
[N
4
D
D
4
D
>N
4

A : '_ N ) A4
< a4 2 L a . o A <
.4 g 4 4 Y 4
4 4 A <
. 4 7 . _ )
4 a4 : .S - 9 .
. A . 4 . . .o ) g .
< T e a 4 _/—M8 x 60 ANCHORS FOR o - @
N - : . . %9/ - CONGRETE WALL*/. - -
g e 7~ MBx80ANCHORS FOR 4. Ca?

MASONRY WALL* R A

<
HORIZONTAL TOP HAT

VERTICAL TOP HAT [:

| MIN 12mm EDGE

pa — DISTANCE
[ 11 |
v
1 Pz 4
12G FASTENERS*
. MAX 31mm OVERALL MAX 31mm OVERALL
12G FASTENERS AVANTE SYSTEM (RAIL AVANTE SYSTEM (RAIL
AND BRICK FACING) 12G FASTENERS* AND BRICK FACING)
10mm MORTAR* JOINT
AVANTE RAIL*
12G FASTENERS*
230*76mm AVANTE BRICK FACINGS* 10mm MORTAR™ JOINT
230*76mm AVANTE BRICK FACINGS*
AIR'WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL
WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE AIR/WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL
WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE
MIN 25mm CAVITY FORMED USING TOP HATS*, Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS MIN 25mm CAVITY FORMED USING TOP HATS*, Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS
FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
01)_TYPICAL LIGHT GAUGE STUD FRAMING TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED 02) TYPICAL CONCRETE WALL
SCALE VA OUT BY THE PROJECT DESIGN PROFESSIONAL SCALE VA
4 N\
01 |FOR CONSTRUCTION P.A | 01/10/2019 BRICKS&TM PA
02 |REISSUED FOR CONSTRUCTION M.E 19/11/2021 01/10/2019 TYPICAL AVANTE WALL SECTION (TOP VIEW)
03 |REISSUED FOR CONSTRUCTION M.E [20/07/2022 PAVERS _ 03
A:75 _Townson R_oad, Schofields, NSW 2762
Ti61265583000 A3
soae A brick walling system
ABN 68 168 794 821
s T e s AVA-TYP-D03 05
p PP N/A
Do not scale this drawing \_ Yy,




g _ <
| _ < : 4
| a : <
MAX 31mm OVERALL AVANTE SYSTEM (RAIL AND BRICK FACING) ; | - A 2
|- < | 4 4
| . < <
12G FASTENERS* | o :
\ | 4 g
MIN 25mm CAVITY FORMED USING TOP HATS*, : - p) 4 <
Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS I 5 a : A 4
AIR/WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL | '
WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE | g
I A » |
| o | 2 -
VERTICAL TOP HAT | A g : A 2
l A <
CLEAT I .
I a4 ) g
A
| 2 i
[ g oo E _ A4
12G FASTENERS* \: L A .4
: CONCRETE / MASONRY
AVANTE RAIL* I A .. WALL
A c ) ’ _ : . <
10mm MORTAR* JOINT 4 a4 o, .
a ; ' A A
M8 x 60 ANCHORS FOR < .
CONCRETE WALL*/ :
M8 x 80 ANCHORS FOR
230*76mm AVANTE BRICK FACINGS* MASONRY WALE* g
4 ' 2 '
FLASHING IF REQUIRED FOR OVERALL WALL NCC COMPLIANCE U ' < 4 A
SEAL AND DRAIN AS REQUIRED FOR OVERALL WALL NCC COMPLIANCE. ALL j MIN 12mm EDGE DISTANCE A . <
SEALANTS TO BE COMPATIBLE WITH AVANTE BRICK FACINGS AND MORTAR. I . P ' A
WEEP HOLE SCREEN o 4 4 ;
< 4 _
g 4 .
. ' <
3 .
FLOOR ) d B
e A 4 J
——————————————————————————————————————————————————————————————————————————————————————————————————————————— _ A £ _
77777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777 < ) . A
*********************************************************************************************************** < - : 4 .4
fffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffff _ A
FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL
p
01 |FOR CONSTRUCTION P.A | 01/10/2019 BRICKS&TM P.A
02 |REISSUED FOR CONSTRUCTION M.E [19/11/2021 01/10/2019
03 |REISSUED FOR CONSTRUCTION M.E 20/07/2022 p G PAVERS _— FLOO R F LAS H I N G D ETA' L 03
A: 75 _Townson R_oad, Schofields, NSW 2762
Tior 260368000 A3
F: 612 8362 9005 . .
ABN 68 168 794 821 A brICk Wolllng System
©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated AVA—TY P - D 04 06
without the prior written approval of PGH Bricks & Pavers Pty Ltd N / A
Do not scale this drawing \_




FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL

METAL CAPPING
SEAL AS REQUIRED FOR OVERALL WALL NCC
COMPLIANCE. ALL SEALANTS TO BE COMPATIBLE
WITH AVANTE BRICK FACINGS AND MORTAR.

12G FASTENERS*

VERTICAL TOP HAT
MIN 25mm CAVITY FORMED USING TOP HATS?,
Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS
AIR/WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL
WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE
TR \

AVANTE RAIL

10mm MORTAR* JOINT
230*76mm AVANTE BRICK FACNGS%

MAX 31mm OVERALL AVANTE SYSTEM (RAIL AND BRICK FACING)

/ HORIZONTAL TOP HAT

LIGHT GAUGE STEEL / TIMBER
FRAMING

01

FOR CONSTRUCTION

02

REISSUED FOR CONSTRUCTION

o ooz . PGH K" o

A: 75 Townson Road, Schofields, NSW 2762

&

E: corium@pghbricks.com.au
T: 6129235 8000 A3

F: 612 8362 9005

ABN 68 168 794 821

©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated

without the prior written approval of PGH Bricks & Pavers Pty Ltd N / A

Do not scale this drawing

TYPICAL CAPPING DETAIL 02

\", &

A brick walling system AVA-TYP-DO5 07

\_




AIR'WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL WALL
NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE

CLEAT

12G FASTENERS*

12G FASTENERS*

7

230*76mm AVANTE BRICK FACINGS*

FLASHING AT SLAB EDGE IF REQUIRED
FOR OVERALL WALL NCC COMPLIANCE

LEG OF AVANTE RAIL TO BE TRIMMED TO ALLOW GAP FOR MOVEMENT

SEAL AND DRAIN AS REQUIRED FOR
OVERALL WALL NCC COMPLIANCE. SEALANT
TO SUIT DESIGN BUILDING MOVEMENTS.

MIN 20 mm - CONFIRM WITH PROJECT

4

s

DESIGN PROFESSIONAL REQUIRED
DESIGN MOVEMENT AND JOINT SIZE

MIN 25mm CAVITY FORMED USING TOP HATS*,

Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS

5
LIGHT GAUGE STEEL / TIMBER
FRAMING
\J—'—l\
“‘ A <
| ap A <
| : A
| . : A
P
Y M8 x 60 ANCHORS FOR
X
' ' CONCRETE WALL*/ _ < A
M8 x 80 ANCHORS FOR
MASONRY WALL*
<7
IN 12mm EDGE DISTANCE A - <7
- CONCRETE SLAB / EDGE BEAM A
| < '
[ : . <
Y
|
|
Paus /)
- <7 A
N |

MAX 31mm OVERALL AVANTE SYSTEM (RAIL AND BRICK FACING)

AVANTE RAIL*

10mm MORTAR* JOINT

VERTICAL TOP HAT

LIGHT GAUGE STEEL / TIMBER
FRAMING

HORIZONTAL TOP HAT

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL

01

FOR CONSTRUCTION P.A | 01/10/2019

02

REISSUED FOR CONSTRUCTION M.E [19/11/2021

03

. pG PAVERS

REISSUED FOR CONSTRUCTION M.E 20/07/2022

A: 75 Townson Road, Schofields, NSW 2762
E: corium@pghbricks.com.au

A3

T: 6129235 8000

F: 612 8362 9005

ABN 68 168 794 821

©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated
without the prior written approval of PGH Bricks & Pavers Pty Ltd

N/A

Do not scale this drawing

BRICKS &™) 7z

A brick walling system

\_

HORIZONTAL CONTROL JOINT AND SLAB EDGE FLASHING DETAIL

03

AVA-TYP-DO06

08




INTERNAL FINISHES

FINAL DESIGN AND CERTIFICATION OF ALL ELE

MENTS

TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED

OUT BY THE PROJECT DESIGN PROFESSIONAL

~

A _ o A< - o : < : A 2
g 2 N ' M8 x 60 ANCHORS FOR L . A. g 4 A
4 TYONCRETE WALL* / ; <7
' CONCRETE / MASONRY . _ A
3 M8 x 80 ANCHORS F@R WALL 4 _
g A . MASONRY WALL et g . _
) . | 7 9 _ - A A . _ 4
4 4 g . A - o 4 ' : . 7 . g : 4 A A 4
. . . - an < : : . _ g :
X 2 s . o _ <
J _ g ' "~ AVANTE RAIL CANTILEVER SPAN* 4 .A : AVANTE RAIL CANTILEVER SPAN* _
A a4 4 2 _
JAN A J A - 4

MIN 12mm EDGE
DISTANCE

J
L X
OO
) S0 08 ¢
00X

MAX 31mm OVERALL AVANTE
SYSTEM (RAIL AND BRICK FACING)

MIN 25mm CAVITY FORMED USING TOP HATS*,
Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS

AVANTE RAIL*

VERTICAL TOP HAT

MIN 15 mmJFJ’

\ 12G FASTENERS*

AIR/WATER/VAPOUR BARRIER IF
REQUIRED FOR OVERALL WALL NATIONAL

CONSTRUCTION CODE (NCC) COMPLIANCE
10mm MORTAR* JOINT

230*76mm AVANTE BRICK FACINGS*

— SEAL AS REQUIRED FOR OVERALL WALL NCC COMPLIANCE.

CLEAT SEALANT TO SUIT DESIGN BUILDING MOVEMENTS.
g
01 |FOR CONSTRUCTION P.A | 01/10/2019 BRICKS &TM PA
02 REISSUED FOR CONSTRUCTION M.E [19/11/2021 01/10/2019
03 REISSUED FOR CONSTRUCTION M.E 20/07/2022 p PAVERS - @@ VERTICAL EXPANSION JOINT DETAIL 03

A: 75 Townson Road, Schofields, NSW 2762
E: corium@pghbricks.com.au

T: 6129235 8000

F: 612 8362 9005

ABN 68 168 794 821

©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communi
without the prior written approval of PGH Bricks & Pavers Pty Ltd

Do not scale this drawing

icated

A3

S Avante

A brick walling system AVA-TYP-07

\_

N/A

09




SEAL AS REQUIRED FOR OVERALL WALL NCC WINDOW JAMB AIR/'WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL
COMPLIANCE. ALL SEALANTS TO BE COMPATIBLE WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE
WITH AVANTE BRICK FACINGS AND MORTAR
ﬂ N3 S B S h
LIGHT GAUGE STEEL / TIMBER L
FRAMING i
LIGHT GAUGE STEEL / TIMBER [E——
FRAMING
AIR/WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL
WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE
| )
, AVANTE RAIL , :
, AVANTE RAIL . 1" CANTILEVER SPAN* ﬁ
CANTILEVER SPAN* i HORIZONTAL TOP HAT
INSTALL SHEAR BLOCK N §
3 VERTICAL TOP HAT
@MAX 300 CTRS £
o
D g 2 [ ——
MAX 10 mm \
WINDOW SHROUD /
ANGLE TRIM
o
MAX 31mm OVERALL 10mm MORTAR* JOINT MAX 31mm OVERALL MIN 10mm
AVANTE SYSTEM (RAIL .
. AVANTE SYSTEM (RAIL 10mm MORTAR* JOINT
AND BRICK FACING) 12G FASTENERS AND BRICK FACI&G)
12G FASTENERS*
MIN 25mm CAVITY FORMED USING TOP HATS*, MIN 25mm CAVITY FORMED USING TOP HATS*
Z- SECTIONS* OR HELPING HANDS* @ 600 CTRS Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS
AVANTE RAIL*
AVANTE RAIL* 230*76mm AVANTE BRICK FACINGS*
SEAL AND DRAIN AS REQUIRED FOR OVERALL WALL NCC COMPLIANCE. ALL
230*110*76mm AVANTE PISTOL CORNER SEALANTS TO BE COMPATIBLE WITH AVANTE BRICK FACINGS AND MORTAR
FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
01 WINDOW JAMB DETAIL - BRICK REVEAL TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED 02 WINDOW JAMB DETAIL - METAL REVEAL
SCALE VA OUT BY THE PROJECT DESIGN PROFESSIONAL SCALENA
g
01 |INFORMO1TION P.A |01/10/2019 ™| p A
02 |REISSUED FOR CONSTRUCTION M.E [19/11/2021 . pG Bﬁ%ﬁ%& 01/10/2019 WI N DOW JAM B DETAI LS 02
A:75 _Townson R_oad, Schofields, NSW 2762
T e e 00 oo A3
F: 6128362 9005 . .
ABN 68 168 794 821 A brICk WG I I In stem
s T e s S5y AVA-TYP-D08 10
p pp! N/A
Do not scale this drawing \_




AIR'WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL DOOR JAMB
WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE

: ° 4 4 A o v < . .
< . a H A o : : <
| v g S, 4 M8 x 60 ANCHORS FOR - N |
_ . | . CONCRETE WALL*/ - © AVANTE RAIL ., : \
. CONCRETE / MASONRY ' R S . MASONRY WALL . N
g WALL . a . A _ } ' v - 4
. A . < . g A . : 2
. .. A .
o A < - CLEAT — 4, | \
o N - A4 ' a7 Pl
4 . N .
4 A T A <
- « . ) oA . A
MAX 31mm OVERALL AVANTE M'ND?Sz}nAn,LE[E)GE N
SYSTEM (RAIL AND BRICK FACING)
| 7,
MIN 10mm
MIN 25mm CAVITY FORMED USING TOP HATS*,
Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS
12G FASTENERS*
230*76mm AVANTE BRICK FACINGS*
10mm MORTAR* JOINT VERTICAL TOP HAT 2 600 CTRS* SEAL AS REQUIRED FOR OVERALL WALL NCC
COMPLIANCE. ALL SEALANTS TO BE COMPATIBLE
WITH AVANTE BRICK FACINGS AND MORTAR
FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS AVANTE RAIL*

TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL

03 |REISSUED FOR CONSTRUCTION M.E 20/07/2022

01 |FOR CONSTRUCTION P.A | 01/10/2019 BRICKS &TM P.A
REISSUED FOR CONSTRUCTION M.E [19/11/2021 01/10/2019

F: 612 8362 9005

ABN 68 168 794 821

©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated
without the prior written approval of PGH Bricks & Pavers Pty Ltd N / A

Do not scale this drawing

A: 75 Townson Road, Schofields, NSW 2762
E: corium@pghbricks.com.au
T: 61 2 9235 8000 A3

DOOR JAMB DETAILS

03

A brick walling system AVA-TYP-D09

\_

11




///

12G FASTENERS*

AVANTE RAIL*

MIN 25mm CAVITY FORMED
USING TOP HATS*, Z-SECTIONS*
OR HELPING HANDS* @ 600 CTRS

N

230*76mm AVANTE BRICK FACINGS*

MIN 1

SEAL AND DRAIN AS REQUIRED
FOR OVERALL WALL NCC
COMPLIANCE. ALL SEALANTS TO
BE COMPATIBLE WITH AVANTE
BRICK FACINGS AND MORTAR

MAX 31mm OVERALL AVANTE

SYSTEM (RAIL AND BRICK FACING)

2/12G FASTENERS* FOR
EACH VERTICAL RAIL

HORIZONTAL TOP HAT TO SUPPORT /
VERTICAL AVANTE RAIL*

VERTICAL AVANTE RAIL*-MIN

RAIL ENGAGEMENT 50mm

12G FASTENERS*

LIGHT GAUGE STEEL / TIMBER
FRAMING

\ AIR'WATER/VAPOUR BARRIER IF
REQUIRED FOR OVERALL WALL
NATIONAL CONSTRUCTION CODE
(NCC) COMPLIANCE

FLASHING IF REQUIRED

230*110*76mm AVANTE PISTOL CORNER

x
Z
P
=3
O
L||_JLIJ
0
</
3=
Z
A‘O
Z
N
s
=3
O
L||_JLIJ
|» <ZE§
</
3=
Z
(@)
4%§
-
MIN 10m

SEAL AS REQUIRED FOR OVERALL WALL NCC

COMPLIANCE. ALL SEALANTS TO BE COMPATIBLE

WITH AVANTE BRICK FACINGS AND MORTAR

-

J |

4 ik

WINDOW HEAD DETAIL - BRICK REVEAL

MAX 31mm OVERALL AVANTE

-

SYSTEM (RAIL AND BRICK FACING)

AIR'WATER/VAPOUR BARRIER IF
REQUIRED FOR OVERALL WALL
NATIONAL CONSTRUCTION CODE
(NCC) COMPLIANCE

/

MIN 26mm CAVITY FORMED USING
TOP HATS*, Z-SECTIONS* OR
HELPING HANDS* @ 600 CTRS

/

12G FASTENERS*

[

AVANTE RAIL*

10mm MORTAR* JOINT

230*76mm AVANTE BRICK FACINGS* \
WEEP HOLE SCREEN \

/

MIN15mm/;§§ —

/

/ VERTICAL TOP HAT

LIGHT GAUGE STEEL / TIMBER
FRAMING

12G FASTENERS*
/ 12G FASTENERS*
/ HORIZONTAL TOP HAT

SEAL AND DRAIN AS REQUIRED
FOR OVERALL WALL NCC
COMPLIANCE. ALL SEALANTS TO
BE COMPATIBLE WITH AVANTE
BRICK FACINGS AND MORTAR

WINDOW SHROUD / ANGLE TRIM

%5l

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS TO THE INSIDE OF THE

WINDOW HEAD DETAIL - METAL REVEAL

01 SCALE N/A AVANTE RAIL TO BE CARRIED OUT BY THE PROJECT DESIGN PROFESSIONAL 02
.
01 |FOR CONSTRUCTION P.A | 01/10/2019 BRICKS&TM PA
02 |REISSUED FOR CONSTRUCTION M.E 19/11/2021 01/10/2019
pG PAVERS TYPICAL AVANTE WINDOW HEAD DETAIL 02
A.: 75 _Townson R_oad, Schofields, NSW 2762
= crum@pgris A3
F: 612 8362 9005 . .
ABN 68 168 794 821 A brICk WG I I In stem
s T e s S5y AVA-TYP-D10 12
pr PP N/A
Do ot scale this drawing \_




SEAL AS REQUIRED FOR OVERALL WALL
NCC COMPLIANCE. ALL SEALANTS TO BE

COMPATIBLE WITH AVANTE BRICK
FACINGS AND MORTAR

230*110*76mm AVANTE PISTOL CORNER

VERTICAL AVANTE RAIL*-MIN ——
RAIL ENGAGEMENT 50mm

HORIZONTAL TOP HAT TO
SUPPORT VERTICAL AVANTE RAIL*

2/12G FASTENERS* FOR
EACH VERTICAL RAIL

AIRWATER/VAPOUR BARRIER IF —_ |
REQUIRED FOR OVERALL WALL
NATIONAL CONSTRUCTION CODE
(NCC) COMPLIANCE

MIN 25mm CAVITY FORMED USING
TOP HATS*, Z-SECTIONS* OR \
HELPING HANDS* @ 600 CTRS

10mm MORTAR* JOINT

|

LIGHT GAUGE STEEL / TIMBER
FRAMING

AVANTE RAIL
CANTILEVER SPAN*

12G FASTENERS*

AVANTE RAIL

HORIZONTAL AVANTE RAIL* ——

12G FASTENERS* —M — |

230*76mm AVANTE
BRICK FACINGS*

MAX 31mm OVERALL AVANTE

“CANTILEVER SPAN*

VERTICAL TOP HAT

——12G FASTENERS*

HORIZONTAL TOP HAT

SYSTEM (RAIL AND BRICK FACING)

s

23
PACKING

WINDOW SUB-SILL OR EXTENDED
CLADDING/FLASHING

SEAL AS REQUIRED FOR OVERALL
WALL NCC COMPLIANCE. ALL
SEALANTS TO BE COMPATIBLE WITH
AVANTE BRICK FACINGS AND MORTAR

AVANTE RAIL*

10mm MORTAR* JOINT

230*76mm AVANTE
BRICK FACINGS*

AIR/WATER/VAPOUR BARRIER IF
REQUIRED FOR OVERALL WALL \

NATIONAL CONSTRUCTION
CODE (NCC) COMPLIANCE

TOP HATS*, Z-SECTIONS* OR
HELPING HANDS* @ 600 CTRS

MIN 25mm CAVITY FORMED USING\

12G FASTENERS*

MAX 31mm OVERALL AVANTE

FRAMING

SYSTEM (RAIL AND BRICK FACING)

\ VERTICAL TOP HAT

=il

LIGHT GAUGE STEEL / TIMBER

\ HORIZONTAL TOP HAT

12G FASTENERS*

WINDOW SILL DETAIL - BRICK REVEAL

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED 02

0 1 SCALE N/A

WINDOW SILL DETAIL - METAL REVEAL

OUT BY THE PROJECT DESIGN PROFESSIONAL

SCALE N/A

01

02

FOR CONSTRUCTION P.A | 01/10/2019
REISSUED FOR CONSTRUCTION M.E [19/11/2021

BRICKS &™) 7z
PAVERS |

A: 75 Townson Road, Schofields, NSW 2762

E: corium@pghbricks.com.au
T: 6129235 8000 A3

F: 612 8362 9005

ABN 68 168 794 821

©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated
without the prior written approval of PGH Bricks & Pavers Pty Ltd

N/A

Do not scale this drawing

S Avante

A brick walling system

TYPICAL AVANTE WINDOW SILL DETAIL

02

AVA-TYP-D11

\_

13




A

CONCRETE / MASONRY

WALL

M8 x 60 ANCHORS FOR

MAX 31mm OVERALL AVANTE |
. SYSTEM (RAIL AND BRICK FACING) |
<J
12G FASTENERS* . |
A \\I
CLEAT* ——————

CONCRETE WALL*/

M8 x 80 ANCHORS FOR

MASONRY WALL*

MIN 12mm EDGE
DISTANCE

\

<7
VERTICAL TOP HAT

AVANTE RAIL
CANTILEVER SPAN*

AVANTE RAIL CANTILEVER SPAN*

7

%25

10mm MORTAR* JOINT

230*110*76mm AVANTE PISTOL CORNER —

M 12G FASTENERS*

INSTALL SHEAR BLOCK
@MAX 300 CTRS

— 230*110*76mm AVANTE
PISTOL CORNER

— CORNER ANGLE FIXED
TO THE BACK OF RAILS*

MIN 25mm CAVITY FORMED USING TOP HATS*,
Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS

AIR/WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL WALL
NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE

4
<

CLEAT

12G FASTENERS* -
VERTICAL TOP HAT

PN

MIN 12mm EDGE -
DISTANCE

10mm MORTAR* JOINT

AVANTE RAIL*

MIN 10mm (VERTICAL
EXPANSION JOINT) I

SEALANT TO SUIT DESIGN
BUILDING MOVEMENTS.

— 230*76mm AVANTE BRICK FACINGS*

12G FASTENERS*

MIN 25mm CAVITY FORMED USING TOP HATS*,
Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS

AIR/WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL
WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE

"MAX 31mm OVERALL AVANTE SYSTEM (RAIL AND BRICK FACING)

Q0
N
I

e

CONCRETE / MASONRY WALL

|
N
2

01

EXTERNAL CORNER DETAIL

SCALE N/A

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL

INTERNAL CORNER DETAIL

02

SCALE N/A

01

FOR CONSTRUCTION

P.A

01/10/2019

02

REISSUED FOR CONSTRUCTION

M.E

19/11/2021

03

REISSUED FOR CONSTRUCTION

M.E

20/07/2022

BRICKS &™) 7z

. pG PAVERS

A: 75 Townson Road, Schofields, NSW 2762
E: corium@pghbricks.com.au

T: 6129235 8000

F: 612 8362 9005

A3

ABN 68 168 794 821

©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated
without the prior written approval of PGH Bricks & Pavers Pty Ltd

N/A

Do not scale this drawing

S Avante

A brick walling system

TYPICAL AVANTE CORNER DETAILS

03

AVA-TYP-D12

\_

14




12G FASTENERS* &
HORIZONTAL TOP HAT
AIR/WATER/VAPOUR BARRIER IF REQUIRED FOR OVERALL

WALL NATIONAL CONSTRUCTION CODE (NCC) COMPLIANCE \
MIN 25mm CAVITY FORMED USING TOP HATS*,

Z-SECTIONS* OR HELPING HANDS* @ 600 CTRS

LIGHT GAUGE STEEL / TIMBER
FRAMING

SEAL AND DRAIN AS REQUIRED FOR OVERALL WALL NCC COMPLIANCE. ALL
SEALANTS TO BE COMPATIBLE WITH AVANTE BRICK FACINGS AND MORTAR

MAX 31mm OVERALL AVANTE SYSTEM (RAIL AND BRICK FACING)

12G FASTENERS*

/

CLEAT

/[

12G FASTENERS*

/

AVANTE RAIL*

10mm MORTAR* JOINT

230*76mm AVANTE BRICK FACINGS*

WEEP HOLE SCREEN

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL

&

A<
A
A
M8 x 60 ANCHORS FOR <7 A
CONCRETE WALL* /
* M8 x 80 ANCHORS FOR
MASONRY WALL*
< : '
A CONCRETE SLAB <
)
MIN 12mm EDGE DISTANCE .
. : <
A' : SOFFIT LINING
DRIP GROOVE A
A <

/

SHELF ANGLE / ANGLE TRIM

01

FOR CONSTRUCTION

02

REISSUED FOR CONSTRUCTION

BRICKS&™| 57,006

03

REISSUED FOR CONSTRUCTION

P.A | 01/10/2019
M.E [19/11/2021
M.E 20/07/2022 PAVERS

A: 75 Townson Road, Schofields, NSW 2762
E: corium@pghbricks.com.au

F: 612 8362 9005

T: 6129235 8000 A3

ABN 68 168 794 821

©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated

without the prior written approval of PGH Bricks & Pavers Pty Ltd N / A

Do not scale this drawing

A brick walling system

TYPICAL AVANTE DETAIL ABUTTING TO SOFFIT LINE

03

AVA-TYP-D13

\_

15




INTERNAL FINISHES

CONCRETE / MASONRY COLUMN / WALL

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL

/
i T A f % T
N A AN
LIGHT GAUGE STEEL / TIMBER B LIGHT GAUGE STEEL / TIMBER
FRAMING FRAMING
VERTICAL TOP HAT @ 600 CTRS* o
g . : M8 x60 ANCHORS F é
| B CONCRETE WALL*/ . = ]
M8 x 80 ANCHORS FOR
MASONRY WALL*
12G FASTENERS* [
- N
N NEA
N .
MIN 12mm EDGE
DISTANCE
MIN 10mmJ%L MAX 31mm OVERALL
x s AVANTE SYSTEM (RAIL ¢ MIN 10mm
230*110*76mm TRADITIONAL BRICKWORK AND BRICK FACING)
230*76mm AVANTE BRICK FACINGS* 10mm MORTAR* JOINT
AVANTE RAIL* 12G FASTENERS
* SEAL AS REQUIRED FOR OVERALL WALL NCC
MIN 25mm %AVITY FORMED USlN? TOP HATS?, COMPLIANCE. ALL SEALANTS TO BE COMPATIBLE
Z-SECTIONS™ OR HELPING HANDS™ @ 600 CTRS WITH AVANTE BRICK FACINGS AND MORTAR
(
01 |FOR CONSTRUCTION P.A | 01/10/2019 ™| pa
02 |REISSUED FOR CONSTRUCTION M.E [19/11/2021 BR|CKS & 01/10/2019 TYPICAL AVANTE DETAIL ABUTTING INTO TRADITIONAL BRICKWORK O 3
03 |REISSUED FOR CONSTRUCTION M.E 20/07/2022 PAVERS _—
A_: 75 _Townson R_oad, Schofields, NSW 2762
$;§3r§1§1§§gglét§$cks.com.au A3
F: 5 - - -
ABN 68 168 794 821 A brICk WO I I I ng System
©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or communicated AV A—TYP— D 1 4 1 6
without the prior written approval of PGH Bricks & Pavers Pty Ltd N / A
Do not scale this drawing \_ J




L=

N

FINAL DESIGN AND CERTIFICATION OF ALL ELEMENTS
TO THE INSIDE OF THE AVANTE RAIL TO BE CARRIED
OUT BY THE PROJECT DESIGN PROFESSIONAL

o

® © 0554

N~ To)
@

AVANTE STANDARD BRICK AVANTE RAIL

01 SECTION DETAIL 02 SECTION DETAIL

( N
01 |FOR CONSTRUCTION M.E | 20/07/2022 ™ mE
. pG H %K&cEKRSS& 20/07/2022 AVANTE BRICK + RAIL 01

A: 75 Townson Road, Schofields, NSW 2762
E: corium@pghbricks.com.au

T: 6129235 8000

F: 612 8362 9005

ABN 68 168 794 821

©PGH Bricks and Pavers Pty Ltd 2017. This document should not be reproduced or commu

without the prior written approval of PGH Bricks & Pavers Pty Ltd

Do not scale this drawing

inicated

A3

1:1

S Avante

A brick walling system

AVA-TYP-D14 7

\_




	Sheets and Views
	220720-Avante Technical Manual Installation Drawings-LIST
	220720-Avante Technical Manual Installation Drawings-ELEV
	220720-Avante Technical Manual Installation Drawings-D01
	220720-Avante Technical Manual Installation Drawings-D02
	220720-Avante Technical Manual Installation Drawings-D03
	220720-Avante Technical Manual Installation Drawings-D04
	220720-Avante Technical Manual Installation Drawings-D05
	220720-Avante Technical Manual Installation Drawings-D06
	220720-Avante Technical Manual Installation Drawings-D07
	220720-Avante Technical Manual Installation Drawings-D08
	220720-Avante Technical Manual Installation Drawings-D09
	220720-Avante Technical Manual Installation Drawings-D10
	220720-Avante Technical Manual Installation Drawings-D11
	220720-Avante Technical Manual Installation Drawings-D12
	220720-Avante Technical Manual Installation Drawings-D13
	220720-Avante Technical Manual Installation Drawings-D14
	220720-Avante Technical Manual Installation Drawings-D15


